. EJXERCISES,

A. Multiple choice questions (MCQs).
Choose the correct answer from the given option:

1. Himalayameans the oabodr o 6 Saropuy

(a) abode of water (b) abode ofice
N ‘abode of soil (d) None of these
2. Which of the following is the highest mountain peak of the world ?
(a) Mt. Kanchenjunga (b) Nanda Devi
& Mt. Everest (d) Nanga Parbat
3. Which of the following pairsiswrong ?
(a) Tenzing Norgay — India &Py BachendriPal — U.K.
(c) Edmund Hillary — New Zealand (d) Dhazu — Scarves
4. Which of the following is shown in the given picture ? = |
) Kangri (b) Dhazu
(c) Phiran (d) Boku

5. Which of the following pair is not correct ?
(a) Sikkim — Gangtok (b) Mizoram — Aizawl
(c) Uttarakhand — Dehradun (d)yTripura — Shillong A9)+71 "



D. Fillin the blanks.
. Mt T verudt  jgthe h1ghest peak in the world.

2. K,islocatedinthe

3. TheHimalayasareabout 3&};3 £ kmlong
4. Men and women in Kashmir wear !/ o

5. KhasiHillsareinthe 7121/ add part of India.




F. Correctly m
Listl

(i) Jammu and Kashmir
(ii) Himachal Pradesh
(iii) Uttarakhand
(iv) Sikkim
(v) Imphal
(vi) Mizoram
(vii) Cherrapunji
(viii) Itanagar

atch List 1 with List II.

ListIl

(a) Badrinath ¢ )

(b) Mampul( V)

(c) Kangri (1/

(d) Mc«*ha]aya [ vil)

(e) Aizawl (vt )

(f) Arunachal Pradesh (Vi)
(¢) Dhazu (H)

(h) Boku UV)
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